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	Properties of Logarithms
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	We must raise a to the power of 0 to get 1.
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	We must raise a to the power of 1 to get a.
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	We must raise a to the power of x to get ax.

Another way to think about this is: because the base of the log and the base of the exponent are the same, they cancel each other out leaving just the exponent.
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	logax is the power to which a must be raised to get x.

Another way to think about this is: because the base of the log and the base of the exponent are the same, they cancel each other out leaving just the expression you are taking the log of.

	Laws of Logarithms
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	The log of a product is the sum of the logs.
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	The log of a quotient is the difference of the logs.
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	The log of a power is the power times the log.

	Change of Base Formula
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	Generally, it’s a good idea to use base 10 or e because those are available on the calculator.

Note: loga DOES NOT cancel out leaving x/b.
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